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I. MULTIPLE CHOICE (60%, 3% for each)

1. In the circular-flow model of the economy,

a. factors of production flow from government to firras.

b. goods and services flow from households to firms. ;
¢. income paid to the factors of production flows frorn firms to households.

d. spending on goods and services flows from firms to households.

2. Suppose a gardener produces bath?gcerrbeans and corn in her garden. If she must gwe

up 14 bushels of corn to get 5 bushels of-green beans, then her opportunity cost of 1
bushel of green beans is =il |

a. 0.36 bushel of corn.

b. 2.8 bushels of corn.

c. 14 bushels of comn.

d. 70 bushels of corn.

.If an increase in income decreases the demand for a good, ther: the good is a(n)

a. substitute good.

b. complementary good. :
¢. norrmal good. ==
d. inferior good. ]

. A tax imposed on the sellers cf a Oood will raise the

a. price paid by buyers and lowertheequilibrium quantity.

b. price paid by buyers and raise the equilibrium quantity.

c. effective price received by sellers and lower the equilibrium quantity.
d. effective price received by sellers and raise the equilibrium quantity.

. Suppose Lauren, Leslie and Lydia all purchase bulletin boards for their rooms for $15

each. Lauren's willingness to pay was $35, Leslie's willingness to pay was $25, and
Lydia's willingness to pay was 330 Total, consumer surplus for these three would be
a. §$15. e

b. $30 —

c. $45. =T

d. $90. =ik

.For a firm in a competitive market an increase in the quantity produced by the firm will

result in

a. adecrease in the product’s market price.

b. an increase in the product’s market price.

c. no change in the product’s market price.

d. either an increase or no change-in the-product’s merket price depending on the number

of firms in the market. E e

. When a natural monopoly exists, itis ——

always cost effective for gouqmrggm-ﬂwned firms to produce the product.
never cost effective for one firm fo-produce the product.

always cost effective for two or more private firms to produce the product.
never cost effective for two or more private firms to produce the product.
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8. Suppose a market is initially perfectly competitive with many firms selling an identical

product. Over time, however, suppose the merging of firms results in the market being
served by only three or four firms selling this same product. As a result, we would
expect

a. an increase in market output and an increase in the price of the product.

b. an increase in market output and an decrease in the price of the product.

c. adecrease in market output and an increase in the price of the product.

d. adecrease in market output and a decrease in the price of the product.

.Rosie’s Flower Shop sells floral arrangements for $20 each. If Rosie hires 10 workers,

she can sell 600 arrangements per ' wieek./If she hires 11 workers, she can sell 650

arrangements per week. Rosie pays each of her workers $400 per week. Which of the

following is correct?

a. For the 11th worker, the marginal profit is $1,000.

b. For the 11th worker, the marginal revenue product is $1,000.

c. The firm is maximizing its profit.

d. If the firm is employing 17 workers, then its profit would increase if it cut back to 10
workers. -

10. Government programs that take meney fr&m high-income people anc give it to low-

11. The CPI is more commonly used as a gauge of inflation than the GDP deflator is because

income people typically =

a. improve economic efficiency by reducmg poverty.

b. reduce economic efficiency because they distort incentives.

¢. have no effect on economic efficiency because they both reduce poverty and distort
Incentives,

d. sometimes improve, sometimes reduce, and sometimes have rio effect on economic
efficiency.

a. the CPI is easier to measure,— —

b. the CPI is calculated more oﬁen than the ( GDP deflator is.

c. the CPI better reflects the guo_ds and services bought by consumers.
d. the GDP deflator cannot be used to gauge inflation.

12. Which of the following statements about GDP is correct?
a. GDP measures two things at once: the total income of everyone in the economy and the

total expenditure on the economy’s output of goods and services.

b. Money continuously flows from households to firras and then back to households, and

GDP measures this flow of money.

c. GDP is generally regarded as the best single measure of a society’s economic well-being.

d. All of the above are correct. —— /L

13. Providing training for unemploy,a?t_indlvﬁuals is primarily intended to reduce

a. frictional unemployment. 7 . —
b. seasonal unemployment. /N < S
c. structural unemployment.

d. cyclical unemployment.
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14. Which of the following statements is correct?
a. The expected future profitability of a corporation influences the demand for that
corporation’s stock.
b. When a corporation sells stock as a means of raising funds it is engaging in debt finance.
c. The owners of bonds sold by the NCNU Corporation are part owriers of that corporation.
d. All bonds are, by definition, perpetuities.
15. An increase in the money suppl_y might indicate that the Fed had
a. purchased bonds in an attempt to increase the federal funds rate.
b. purchased bonds in an atter_npim reduce the federal funds rats.
c. sold bonds in an attempt to increase the federal funds rate.
d. sold bonds in an attempt to reduce the federal funds rate.
16. According to the classical dichotomy, which of the following is ot influenced by
monetary factors?
a. unemployment
b. the price level
¢. nominal interest rates
d. All of the above are correct—
17. Julie and John are American resrdcents Juhe buys stock issued by a Japanese company.
John opzns a sporting goods store iriMemco Whose purchase, by itself, increases the
U.S.’s net capital outflow? 2l
a. Julie’s =
b. Johr's
c. both Julie’s and John’s
d. neither Julie’s nor John’s
18. According to purchasing power parity, if over the course of a year the price level in the
U.S. rises more than in Japan, then which of the following falls?
a. the U.S. real exchange rate; but not thiU.S. nominal exchange rate
b. the U.S. nominal exchangeate, but not the U.S. real exchange rate
c. the U.S. nominal exchmgc@aﬁe_aﬁd the U.S. real exchange rate
d. neither the real exchange rate nor:the nominal exchange rate
19. If output is above its natural rate, then accﬁrding to sticky-wage theory
a. workers and firms will strike bargains for lower wages. In response to the lower wages
firms will produce less at any given price level.
b. workers and firms will strike bargains for lower wages. In response to the lower wages
firms will produce more at any given price level.
c. will strike bargains for higher wages. In response to the higher wages firms will produce
less at any given price levd; :“:

ﬁrms will produce more ai any_glmfpnce level.
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20. Suppose that the money supply increases. In the short run, this increases prices
according to
a. both the short-run Phillips curve and the aggregate demand and aggregate supply model.
b. neither the short-run Phillips curve nor the aggregate demand and aggregate supply
model.

c. the short-run Phillips curve, but not the aggregate demand and aggregate supply model.

I1. SHORT ANSWER (40%, 10% for each)

1. Using & supply and demand diagram, show a labor market with a binding minimum
wage. Use the diagram to show those who are helped by the mirimum wage and those
who are hurt by the minimum wage.

2. Use a graph to demonstrate why a profit-maximizing monopolistically competitive firm
must operate at excess capacity. Explain why a perfectly competitive firm is not subject

to the same constraint. e

3. Derive the relation between savings,-domestic investment, and riet capital outflow using
the national income accounting identity.

4. Suppose that the government increases expenditures by $150 billion while increasing
taxes by $150 billion. Suppose that the MPC is 0.8 and that therz are no crowding out or
accelerator effects. What is the combined effects of these changes?
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